ERR VS EDORREC & OB E K (FM6F4A1HIRE)

THERE S
g BABBSERICRET S a5t MR R | 0D BRI
' BELLTOBH (N (%) B4 (N) (N) (%) ExR
T=F 33
BLEBETSESE. B g :
E R To%EF, R GRER 5
g B GRS REL, REE. g0l o 53l so =
W Emm e HABINTE ORE L 0 2
X33t 243+ DB efE TS 1 i
53
1 TEOBE EfE 75 x
Mp 2 BELHBRIEREDEE 95 162 I (FEH) 20 95 16.2
T HEBEET OB o &
e 193 x
=
| ZE. TEIEEORSE 103 @
P 2 RELEBENIET HEE | 244 417 204 41.7
#E 50 %
EE i 5
51 %
1| BISEXRILHKEME OB i % al
= 23 ﬁé E 37' <8 =
MR 2 P-EELEEENES S8 56 0.6V TlIR ' 56 9.6 §
%
56 "
eI 96
BLEBRARE 1 ﬁ
EERABBRRE U0 171 B
| asEms mE ERe BREEEESEHRARE 1 i
=al B < & == BE M ST 2 A HE Y P
DEEBDE. RHE. 25, RXZARFHARE 1& #%
BEME. ZELZEQEERO _
5 RENITIETEOBS 115 19.6 BE 9
2 EEEEBELET SHNE sctemmE 1
FROEE EERELEERE 1
LFHE 1
5% 2
IEEE 1 -
] 5 3 61 E
#RE 13 @
i S |
3 FrE =ETE EAREERD 1
g BE. BE.ZASE0BBB  , oane T 3
W nE. XE. SEXLEEE :
EDOBHE 5% 2
IEEE 1
21
1 BUERE DB g 1 o I
) BEEMORMLLEBERET EELE 1 Y
MR AeiEBE. 2E. ZE2 2 03 2 0.3 EZ
NEBROR. XFK. B3EX = -
(LS EOBE 2
&t 586/100.0




HBARHE R R

g BABBYERICRET S at o B 51| b D ER RS
' BB LT (N) | (%) B4 (N) (A (%)  EBBE
SERE L 26 "
148 AR O 26 19.0 26 19.0 g
26 #
~ HEEITE 29 i
1 HEIT EDRKE g
2k 2 BELTHMBXIIIRBRZEZVNEL 29 21.2 29 21.2 ?t
+ BEEET S EH L OB E
29 iR
Bl 33 E
3tk BB TR OIS 33 24.1 33 24.1 =+
E
33 R
®RE 16 o
93]
FE 4 S
BHBE o S0 2.9 2
1 HBERS. EBESHOBE ] 30 %

pp 2 BIEBECHEXGEBREL 40 .0 o BR 3
N BLT BT EDES V=g 3 &

EBEES 4
16 11.6 &
e 1 2
HEE 5 ®

16
RE 1 i
1 HB RS EOBE =g , o
bk 2 R EBRERET HEE 2 1.5 2 15 3
= DRETE B
2 *®
‘ SHEIE 1 .
1 SHFFE DR i
6% 2 BELEHRERES DMK 1 0.7 1 0.7 2
SEDBE @
1 1

=51 137/100.0




REEF HRIGH R

g  BABBAYBRICRET S &% MR WL O B
' EELGOBB (AN) | (%) B4 (N (N (%)  EaBs
TOBEETER . XGE =
STIEFIZHE > TIT S BfA %

"W snuesmxa—gEmoe 0 OO 0 00 %
7 5BEDBE . g
;@?Eﬁﬁi%w~xgﬁ Reeg 3 B
SZIEFIZHE > TITH MR . i

2B BEHEFBRE-_MABIE 10 10.6 70 BER) T 40 196 2
B HBE CHLAERESL id
=+ D DTS 10 iR
BUDKEEBEL T HIELE AR 3 s
g TOBREBMARGMLEMOE L, . 3 5o ®
N BRERELTIEEETIFE ' B
BE OB 3 i
RYORRICEDE, BHISHE FEEE 20 B
DREERUHBEBEE T 51 f
MR EEGSHEBAOBBEXIIE 20 39.2 20 39.2 %
BOBBR-ES = I EH#Y B
2% 5> HBBAOKE 20 @

B TEEOIRERALY HAER 18 B
BETHIELEN S RAEBEX =
M Emosm-ES=mocE 0 93 18353
B IEL AT S BB E OB 8 1

=1 51/100.0




